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mn= 1,67x10-27 kg , mp= 1,67x10-27 kg, me= 9.1x10-31 kg 
 


�>8)م  B)رة ا�C� <!��12
24Mg .  

 

)��ت هDC ا�Cرة -1! Fأ�. 

�>8)م ذرةآ��� ا�6
��و��ت و آ��� �)اة  /�رن #�� -2B)ا�. 

� �Jرد��7 -3KJ رة وCا� DCه �
KJ L�,ا. 
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 ���M(ا� �� ��N)ا� �
���، ,�R أCQت ا�() �O)8)1 ا�;��� ا��-)�8 ا�(���/�K� Lآ� $��T @�� Uو�� أ��
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   τ = 0.05s   U��# ،  1 cm�0.1 m �6ت ز!

    
1- �Vا�()ا +
� ��WKا����� ا�� L�,ا :M6, M5, M4, M3, M2, M1 
2-  �Vا�()ا +
 M5, M4, M3, M2: ا,� L���B ا����� �

��NT X�� ا��Kآ� -3�Y؟ اZ,[� ذا�!. 
4- Uا��� CQ\#) :1 cm �1.25 m/s ( ���M(ا� @�� �O!)1 (�Vا�()ا +
�� أJ�� ا����� �� ا�(�

M6, M5, M4, M3, M2, M1 �Vا�()ا +
 وآCا J��ع ���B ا����� �
M5, M4, M3, M2  


�J _`�-Q X��ع ا����� و آCا J��ع ���B ا����� و J��ع ا��)ة �� هDC ا -5�Yآ�ا�K�. 
6-  �V()ا� +
� �
�  �N���#M0ر !N+أ اbز!V()��# U�4ور ا��! �WK� +$أو ،M8. 
7-  �WKا�� +
� U�4ا� �V(! د+,t = 0.3s .  
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�56��� ���د !� ور/� ا�N�Q6ر: ���� ا�(��M(ا� DCه. 


